
Content of the box

Bracket
Wall plugs
Protective end 
caps for plugs
Straight tube
M6 bolt
M5 bolt
Protective cap

(optional)
Control box
Remote control

1x
4x
4x

1x
2x
1x
1x

1x
1x

Powdercoated Steel
Fischer SXS FUS 10x100 mm*
Plastic M8 black S13

Straight tube Steel
Philips screw A4 M6X30 mm
Philips screw A4 M5X12 mm
Plastic Protective cap 

Standard Heatsail control box
Standard Heatsail Remote

Dimensions of the box

640 x 90 x 2040 mm
+/- 18 kg

Required Tools for installation of the bracket (not included)

Drill Power Tool
Ø10 mm drill bit
Torx 50 bit or S13 hexagonic wrench
Philips screw bit

2000 mm

59
0 

m
m

* Fischer SXS FUS are suited for most building materials, Heatsail can 
not guarantee that these plugs are suited for your intended surface, 
please verify.

50 mm

Wall Bracket Information



3.

4.

Ø10 MM

TORX 50

S 13

5.

N

To
 D

om
e

Quick install guide

1.

2.

PHILLIPS
HEAD

6.


